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Question Number : 1 Question Id : 7715134056 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

aEpTiL A TETY TR Tl T

Find the inverse Laplace transform of
(5+10)3

ETSE_]'M ttl-e—lﬂf (t—10)4e_1ﬂt tﬁg—ll]f

(b)

120 24 { ) 24 ( 720

(a)

Options :
1.a
2.b
3.c
4.d

Question Number : 1 Question Id : 7715134056 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1
(s+10)°

@ oA A TR Tl T

Find the inverse Laplace transform of
(s+10)5

ESE_]‘M ttl-e—lﬂt (E_10)4E—1{]t fﬁé’_lm

(b) (c)

120 24 24 [ ) 720

(a)

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134057 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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@ et # THGa® @1 9

Addition of an integrator in a system

i. ®IF ™1 F¢ Bl TeIdl §/Increases steady state error
ii. ®13 3@ F¢ Bl eIl §/Decreases steady state error
iii. @@ Al B Tl §/Increases stability margin
iv. R AT $I 9ol §/Decreases stability margin

frofafed § ¥ oH-w @ §

Which of the following is true

(a) Y-/ Statement (i) (b) ®Y/Statements (ii) Td/and (iii)
(c) @Y/ Statements (i) Td/and (iii) (d) YA/ Statement (ii) Td/and (iv)

Options:
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134057 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UF WUl § YH@dd @ WS
Addition of an integrator in a system

i. ®IF ™1 F¢ Bl TeIdl §/Increases steady state error
ii. ™15 ¥G®1 Ff¢ DI U 8/Decreases steady state error
iii. @U@ WA @1 FeIdT §/Increases stability margin
iv. @I FA1 @I 9erdl §/Decreases stability margin

fofafed § ¥ oH-w @ §

Which of the following is true

(a) PY/Statement (i) (b) ®Y/Statements (ii) Td/and (iii)
(c) @Y/ Statements (i) Td/and (iii) (d) YA/ Statement (ii) Td/and (iv)

Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715134058 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

s2+5-6
524542

fired /et & fou fgfafed § @ oF-91 961 82

s2+s—6
§2454+2

(a) AqH WU, |5 YU/ Minimum phase, stable system

(b) gAdH WU, TS WUIGl/Minimum phase unstable system

(c) TR <HIH WU |Z YUIell/Non minimum phase stable system
(d) IR <TFdH RO 3RZ HUEH/Non minimum phase unstable system

Which of the following is true for the system

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134058 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

s2+5-6
s%4542

e,/ el & fou fgfafed @ 9 -1 981 82

sZ4+s5—6

s2+s5+42

Which of the following is true for the system

(a) AGH WU, W3 YU/ Minimum phase, stable system

(b) g WU, R WUIKl/Minimum phase unstable system

(c) TR =HaH WU ®IZ YUIell/Non minimum phase stable system
(d) TR gAqH TN 3RS WUMCl/Non minimum phase unstable system

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134059 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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dE®T Uumet & TSl &L ... ... o gRviftg oo

Lagrangian of a mechanical system is defined as

(a) WUMGH @1 & SHul/ Total energy of the system
(b) i FHeit ¢d favg Foil H 3R
Difference between kinetic energy and potential energy
(c) & Tid® i/ Total kinetic energy
(d) o fqud Ful/Total potential energy

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134059 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dE®T Uumet & TSl &L ... ... o gfeviftg oo

Lagrangian of a mechanical system is defined as

(a) WUMGHl @1 & S/ Total energy of the system
(b) i FHeit ¢d favg Foil H 3R
Difference between kinetic energy and potential energy
(c) & Tid® S/ Total kinetic energy
(d) o faud Ful/Total potential energy

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134060 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

fedta o0 WOl & gal (U B U GHad ¥ wd 6O T Rl g f6g @ fedi
I & T (Ud) T Slisdielt W IS dRdlad g Y 120° BT IV (dHGd femm H)
S 81 AfE yurel ot Wipfad sgfi 1rad/s & o srafed wdlad mafy ... ... .. g
Poles of a second order system are represented on the complex plane. The angle made by the
line joining origin to the pole in the second quadrant makes an angle 120° with the positive

real axis measured in counter clockwise direction. If 1 rad/s is the natural frequency of the
system, the damped natural frequency is

{‘—\_
b |-:~l

(a) (b) (c)

L3 | =

(d)

[
|

Options:
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134060 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fadta 9 womel & gaf (OTC) @ WY GHqd § WA feE T gl qa fdg @ fid
QU & Yd (d) T SieHdrl 1 YHED dRaiad e 1200 $1 S0 (dHEd o3 )
Sl g1 i TOIel &l Wil MG | rad/s § Ol Sfavied Wolid ARy . ......... |
Poles of a second order system are represented on the complex plane. The angle made by the
line joining origin to the pole in the second quadrant makes an angle 120° with the positive

real axis measured in counter clockwise direction. If 1 rad/s is the natural frequency of the
system, the damped natural frequency is

(a) (b) (c) (d)

{‘—\_
lel
L | =

Bl | =
|

Options :
1.a
2.b
3.C
4.d

Question Number : 6 Question Id : 7715134061 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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HH) e < 8, o @ i s R e p T

s2(s+4)(s+6)
IR EA S p T x-TH @
(s4+2)(s+3)
s2(s+4)(st6)

intersects with the real axis at point p. What is the x-coordinate of p.

In the root-locus of the system the asymptotes to branches extending to infinity

(a) -2.5 (b) -5 (c) -75 (d) -10

Options:
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134061 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
542)(5+3)

2“4)( 5w s i, o R e i i p & 7o g

518 5
TR pmxwufﬁam%?
(s4+2)(s+3)
s2(s+4)(s+6)

intersects with the real axis at point p. What is the x-coordinate of p.

In the root-locus of the system the asymptotes to branches extending to infinity

() -2.5 (b) -5 (©) 75 (d) -10

Options :
1.a
2.b
3.C
4.d

Question Number : 7 Question Id : 7715134062 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fofofed # ¥ oH-w whe 2 FUR @ TN TUR & o & 6y 3 e ¢l T
Jie o g

Which of the following equation is a relationship between z transform and Laplace transform.
T is the sampling interval.

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134062 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofofed § ¥ $9-91 T 2 TUR @ WY FUR & §id § G99 @ i ¢l T

Jie o g
Which of the following equation is a relationship between z transform and Laplace transform.
T is the sampling interval.
143 g
() z=eT (b) z=e™ (clly =—% (&
1-= 1+
2 2
Options :
1.a
2.b
3.¢
4.d

Question Number : 8 Question Id : 7715134063 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9P [G0 ¢1 G2 93] BT U A8, TE g AW WD 82

What is the conjugate of the quaternion [Jo 91 q2 3] where g is the scalar component.

@ [1/q0 1/q1 1/q2 1/g5]

by [-1/90 -1/01 —1/q2 —1/g3]
(©)[~G —q1 —92 —4q3]

(d)[90 —91 —q2 —G3]
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Options:
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134063 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9l [q0 Q1 92 q3) @1 Sy @B, W& g, AW 9D go

What is the conjugate of the quaternion [Jo 91 q2 q3] where g is the scalar component.

@) [1/q90 /a1 1/q2 1/g3]

(b) [-1/q0 —1/q1 —1/q2 —1/q3]
(¢)[~9 —q1 —G2 —q3]

(d)[9% —91 —92 —4q3]
Options:

1.a

2.b

3.c

4.d

Question Number : 9 Question Id : 7715134064 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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x W@ k& oaRisl ¥ gad Uumel o o Fefiied 9§ 9 oF-a oy 9 8

For a system with states x and x which of the following trajectory is possible?

(1) (2)

(a) WOU (1) §4d 8/ Trajectory (1) is possible
(b) WOU (2) §4d § /Trajectory (2) is possible
(c) &Ml HTRI (1)Td (2) ¥4d /Both trajectory (1) and (2) are possible
(d)wmﬁaaﬂﬂmﬁméi HER W U0 (1) (2)Twd 8
Trajectory (1) and (2) are possible depending on the system that generates the trajectory

Options :
1.a
2.b

3.cC
4.d

Question Number : 9 Question Id : 7715134064 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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x W@ k& oaRisl ¥ gad Uumel o o Fefiied 9§ 9 oF-a oy 9 8

For a system with states x and x which of the following trajectory is possible?

b x

L/

(1) (2)

a) WUY (1) ¥Hd &/Trajectory (1) is possible
b) IOy (2 Hllﬂ © /Trajectory (2) is possible
¢) GHl WY (1) (2) ¥4d 2/Both trajectory (1) and (2) are possible
)wmﬁaaﬂﬂaﬁm%}i&nﬂr{wwm@@)mﬁ%
Trajectory (1) and (2) are possible depending on the system that generates the trajectory

(a
(
(c
(d

Options:
1.a
2.b
3.¢
4.d

Question Number : 10 Question Id : 7715134065 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UF U8 H, TG 97 ¥ TG o7 ST SFUd .. ... 2l

Ratio of escape velocity to circular velocity in a planet is

(a) V2 (b) V3 (c) 2 (d) 3

Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134065 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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U6 T H, UARH o1 ¥ JE 3 &1 SO

Ratio of escape velocity to circular velocity in a planet is

(a) V2

Options :
1.a
2.b
3.C
4.d

(b) V3

GET IT ON
Google Play

Question Number : 11 Question Id : 7715134066 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o oa1 § W % @ i o R SWES, T oFd ¥ fE oo @1 siid 99
A HH1 T ©l A o e e @1 g foen ol g, fafk S
E is the specific energy of an orbiting body with zero potential energy assumed at infinity. If
the semi-major axis is doubled, the specific energy becomes

(@) 5

Options :
1.a
2.b
3.c
4.d

(b) V2E

(c)

e | B

T Il gl

(d) 2E

Question Number : 11 Question Id : 7715134066 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol 71 § O ® @ fis o il SER, wefb oFfd A fovg Il @1 ot W
9 AF T g Al o e o @ g e o §, ARy Sl
E is the specific energy of an orbiting body with zero potential energy assumed at infinity. If
the semi-major axis is doubled, the specific energy becomes

E
(a) 7

Options :
1.a
2.b
3.c
4.d

(b) V2E

(c)

ra | Em

&1 Il 81

(d) 2E


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 12 Question Id : 7715134067 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W@ Wil & S @1 AR G R, 9 o RRE 31 AR BUee gRiw o §, d
oIl BT 9UTH AR oH & ot 3ave Tuiae i k, AL Gl
A system has a transfer function S% where a is a constant. The proportional gain k,, required

to make the system asymptotically stable assuming unity gain negative feedback is

(a) k, =1 (b) k, =10
(c) ky =20 (d) 30 ¥ U $I5 el/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134067 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wmﬂfﬂﬁg @ IR G 8, ol o FORIF B o Foree ko ofd o) &,
U ®1 ST AR R & T 3avge SHIuiie @i k, @ AL ... g

A system has a transfer function SEZ where a is a constant. The proportional gain k,, required
to make the system asymptotically stable assuming unity gain negative feedback is
(a) k=1 (b) ky, =10

() ky =20 (d) I ¥ ¥ $I5 Fel/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134068 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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ﬁWWﬂWW;%ﬁWHWW ....... g
1
H, norm of a system with transfer function ) is
s
(a) (b) 0.5
(c) (d) U'Iﬁﬂﬁ i g ﬁﬁ Tel/None of the above
Options:
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134068 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Hﬁwm@ﬂmwgﬁa‘[m@w ....... g
1
H,, norm of a system with transfer function e is
§
(a) 1 (b) 0.5
(c) (d) Eﬂ?iﬂﬁ I ¥ Pl Te/None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715134069 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e a, b cdH RIS, M axXx(BXc)eounn.n..... g

If a, b and c are three vectors, a X (b X ¢) is

(a) b(a.c) — c(b.a) (b) a(b.c) — c(a.b)
(c) a(b.c) — b(c.b) (d) Sad § ¥ FI3 72/ None of the above
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Options:
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134069 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e a, b cdH RIS, M axXx(BXc)eounn.n..... g

If a, b and c are three vectors, a X (b X ¢) is

(a) b(a.c) — c(b.a) (b) a(b.c) — c(a.b)
(c) a(b.c) — b(c.b) (d) Sad § ¥ FI3 72/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134070 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

S
s44534252435+4

T F F< qiey H, fBad IR oFd H o @ E
5
s44534252435+4

In the root locus of the system how many branches are going to infinity?

(a) 1 (b) 2 (c) 3 (d) 4

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134070 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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S
s4453+252435+4
In the root locus of the system

TG @ ®C oy H, i T 3Fd o W 6o
5
s44+534252435+4

how many branches are going to infinity?
(a) 1 (b) 2 (c) 3 (d) 4

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134071 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

uﬁmrﬁﬁaaa%ﬂwimwlliﬂ;s%wﬁﬁlqﬁmwmﬁmﬁi%a‘m
@ 99 T g2

3
. If the network is a
+Ts

The transfer function of a compensating network is in the form

phase lag network what is the value of a?

(2) 0.5 (b) L5
(c) 2 (d) SWa H ¥ 95 Te1/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 16 Question Id : 7715134071 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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uﬁwrﬁﬁaaﬂ?ﬂiaiﬁurwl:;?%wﬁﬁlqﬁmwumm%ﬁa
@ 99 ™ g2

1+aTs

The transfer function of a compensating network is in the form . If the network is a

1Ts
phase lag network what is the value of a?

. (b) L5
(c) 2 (d) 3wad § ¥ Blg al/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134072 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wy&mﬁiwwa’awjmﬁma@zﬁgﬂﬁmmo.s gl 15V
& My & o g dicear (3¥eye dieedn) W AR dieedl RuiRd $1

A closed-loop system with negative feedback has forward gain 2 and feedback gain 0.5.
Determine the output voltage and error voltage for an input of 15V.

(a) 15V, 10V (b) 6V, 5V (c) 15V, 7.5V (d) 5V, 10V

Options :
1.a
2.b
3.cC
4.d

Question Number : 17 Question Id : 7715134072 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wy&mﬁiwwa’awjmﬁmmzﬁgﬂﬁmmo.s gl 15V
& My & o g dicedr (3¥eye dieedn) W@ AR dieed RuiRd $1

A closed-loop system with negative feedback has forward gain 2 and feedback gain 0.5.
Determine the output voltage and error voltage for an input of 15V.

(a) 15V, 10V (b) 6V, 5V (c) 15V, 7.5V (d) 5V, 10V

Options :
1.a
2.b
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3.C
4.d

Question Number : 18 Question Id : 7715134073 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafrerm & wfafear/dam ufgar ... ..., ... & fau Wad 8id §

Reaction/momentum wheels are used in spacecrafts for

(a) 97 f¥4a01/ Velocity control

(b) HfHgRd FT=1/ Attitude control
(c) T =0/ Altitude control
(d) 3uddd Tt/ All of the above
Options :

1.a

2.b

3.c

4.d

Question Number : 18 Question Id : 7715134073 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faRem & wfafsparan g ... ... ... & U ugad Bid ©

Reaction/momentum wheels are used in spacecrafts for

(a) 97 f49a01/ Velocity control

(b) HfHgiT 4801/ Attitude control
(c) dmar Fg=ur/ Altitude control
(d) Gﬂﬁﬂﬂ gt/ All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134074 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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3= g8 Iu¥sl & fau fFefafad d 4 $H-91 9&uu M §e

Which of the following configuration is preferable for highly agile satellites?

(a) T HdT YUlell/ Zero momentum system
(b) 3MfiFd Td7 Uit/ Biased momentum system
(c) T4 &ﬂﬂ:ﬂf YOI/ Zero torque system

(d) 39dad ¥ ¥ @is -el/ /None of the above

Options:
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 19 Question Id : 7715134074 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3= ¢8 Ju¥sl & fau Fofafad d ¥ $H-91 98U HEHH §e

Which of the following configuration is preferable for highly agile satellites?

(a) U Yd7T YUllell/ Zero momentum system
(b) 3fid a7 yomelt/Biased momentum system
(c) T4 &H'EJ:UT YUITcil/ Zero torque system

(d) 39 ¥ ¥ @is -el/ /None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134075 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Widfrar uigar & A smui

¥ TGS §

The output torque of a reaction wheel is proportional to

(a) Uil 71fd/Rotational Speed

(b) gl 7fd & 9Rade @I &I/Rate of change of rotational speed

(c) ®IUfig 3TEui/ Angular momentum
(d) Iudad i/ All of the above

Options :
1.a
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2.b
3.C
4.d

Question Number : 20 Question Id : 7715134075 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wfafsbar afgdr & | amgel .. .......... & guEUd® 8

The output torque of a reaction wheel is proportional to

(a) guiHl 71fd/Rotational Speed

(b) guii 7fd & URade @I &X/Rate of change of rotational speed
(c) ®IUfig Teul/ Angular momentum

(d) Iuga i/ All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134076 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

+10V FHH WY & 9 12 bit DAC S YA farled W &4 & U +5v iy WA ¥ god
DAC & fot foee fae ot smaaaar gifte

How many bits will be required for a DAC with £5V output range to get the same resolution
as a 12 bit DAC with £10V output range?

(a) 12 bits (b) 11 bits (c) 10 bits (d) 15 bits

Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134076 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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7

+10V 7 WY & 9 12 bit DAC S YHH fIHed Wd &4 & Y +5V 70 WA ¥ g
DAC & fo fsad fae @t smawawar giite

How many bits will be required for a DAC with £5V output range to get the same resolution

as a 12 bit DAC with £10V output range?

(a) 12 bits

Options:
1.a
2.b
3.c
4.d

(b) 11 bits

(c) 10 bits

(d) 15 bits

GET IT ON
Google Play

Question Number : 22 Question Id : 7715134077 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafafegd § ¥ o9-9, fiieey Be-olim

@ 4,~-90°

Options :
1.a
2.b
3.cC
4.d

(b) 1,—45°

1 Q
(€) =45

HgT & YHH SMaf & WY WA dI RC Fg
AMafd TRE ek ¥ WEHI 49 gR1 URIYG URAVT U Wia®T URadd & TEd Bl g2
Which of the following represents the magnitude and phase change introduced by a first order
RC lowpass filter to a sinusoidal input with frequency equal to the filter cut-off frequency

1 0
(d) ,-90

Question Number : 22 Question Id : 7715134077 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
Fofifed 9 ¥ -, ek $e-3iib G & W 39 & WY YA Piic RC g
3Mgfd URS floecy ¥ WEeiy a9 gR1 URMYG URAT U WIa®iT IRadd of TRdd &l 82
Which of the following represents the magnitude and phase change introduced by a first order
RC lowpass filter fo a sinusoidal input with frequency equal to the filter cut-off frequency

fa) 1,90

Options :
1.a
2.b
3.C

(b) 1,-45°

(¢) —,—45°

1 0
(d) ,-90
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4.d

Question Number : 23 Question Id : 7715134078 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yase o Fa% R @ i gR1 iR o o @ o w9 200 3d9 W fdee
7 40909 gl 9 Wadd @ FdT uloaer 1.5kQ §, UHE oW wfdensn &1 iRead &1

The input signal to an amplifier is fed through a transformer which has 200 turns in the
primary and 40 turns in the secondary. If the input impedance of the amplifier is 1.5kQ,
calculate the effective input impedance?

(@) 37.5kQ (b) 60 kQ (c) 25kQ (d) 1L.5kQ

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134078 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tadd o fow fmd o ek grr Wi faan o & fogd wmuffie § 200 964 @ fedis
7 40907 gl 9c W9dE @AY gioaer 1.5kQ §, UHE o9 wiienEn &1 uRead &1

The input signal to an amplifier is fed through a transformer which has 200 turns in the
primary and 40 turns in the secondary. If the input impedance of the amplifier is 1.5kQ,
calculate the effective input impedance?

(a) 37.5kQ (b) 60 kQ (c) 25kQ (d) 1.5kQ

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134079 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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0-10mA R & UHieX @I 0-100V &1 A &1 § 9&F diccAdt § gRafdd & & U
Fofied © ¥ H-91 A0Wd 52 THIR & AidR@ WY 100Q 3

Which of the following is required to convert an ammeter of 0-10mA range to a voltmeter
capable of measuring 0-100V. Internal resistance of the ammeter is 100Q

(a) 9.9kQ @ THIR ¥ UHiecx ¥ Fe/Connect 9.9kQ in parallel to ammeter
(b) 10.1kQ ®! TER ¥ Urier ¥ &S/ Connect 10.1kQ in parallel to ammeter
(c) 9.9kQ @ 4ot & Tl T Wi/ Connect 9.9kQ in series with ammeter

(d) 10.1kQ®! 4ot T TdieX T Wi/ Connect 10.1kQ in series with ammeter

Options:
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134079 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0-10mA TR & THICT I 0-100V $I A & H WA diccAndl # URafdd & & fou

fFofefEd § 9 oH-1 ews g2 Wi @1 3fidke Wil 100Q B

Which of the following is required to convert an ammeter of 0-10mA range to a voltmeter
capable of measuring 0-100V. Internal resistance of the ammeter is 100Q

(a) 9.9kQ @ THIR ¥ UHier ¥ WIS/ Connect 9.9kQ in parallel to ammeter
(b) 10.1kQ ®! TER ¥ UHiex ¥ 1S/ Connect 10.1kQ in parallel to ammeter
(c) 0.9kQ & 9ot # wfiex ¥ Gﬁ%’/ Connect 9.9kQ in series with ammeter

(d) 10.1kQ @1 477 7 Wi ¥ Gﬁg;’ Connect 10.1kQ in series with ammeter
Options :

1.a

2.b

3.¢C

4.d

Question Number : 25 Question Id : 7715134080 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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3GHE SR ( U4 3Faied WIplad Mg w & I fGd @iy & fow sfddan
wioEr o L. 8l

Maximum percentage overshoot for a second order system with damping ratio { and
undamped natural frequency  is

-¢

T
-
(a) 100ew” (b) 100.9‘“@

(c) 1008\‘T (d) 3wfw & ¥ 31 T/ None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715134080 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3GHG S ( U4 3Famicd Wipldd i w & WY fgdig @i o @ fou sfiddn
iR oA L. 3l

Maximum percentage overshoot for a second order system with damping ratio { and
undamped natural frequency w is

w
T
-
(a) 100ew” (b) 1009‘”@

- l_cz

(c) 1OOE\T (d) Swied & § @5 1/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134081 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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X = E'nﬂﬁz@:{iﬂ?w?, Wik, 0% m ¥ uiafda 87 ¢ k Wm e 3

k
: 1 ;
What i3 the z-transform of the sequence X; = H where k varies from 0 to m; k and m

are integers.

1_[52)ln+1 (b) l—[SZ)mH 1_[5z)m+1 {d) l—[SZ)m
(1-5z)(5z)™ (1-52) (1-52)(5z)™

(a)

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134081 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Xy = Elnﬂﬁz-ﬁtﬁﬂ?wa, Wik, 0% m ¥ whakid 31 ¢k Wm T 3|

k
: 1 :
What is the z-transform of the sequence X; = H where k varies from 0 to m; k and m

are integers.

1-(5z)™*1 b 1-(5z)™H 1-(5z)™H1 1-(5z)™
(1-52)(52)™ " © =5 @ Saeam

(a)

Options :
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134082 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

03Nm @ 0 gl ¥ god ud wldfean ufgan 50 Ube H 3500 rpm @ A G T
U dedl 31 iy ufew & ot & oS oMgul @1 Rhe AH B &-

A reaction wheel of output torque 0.3 Nm runs up to its maximum speed of 3500 rpm in 50
seconds. What is the approximate value of the moment of inertia of the fly wheel of the
reaction wheel?

(a) 4100kg cm? (b) 257kg cm?
(c) 2570kg cm? (d) 409kg cm?


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134082 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

03Nm @ M0 3l ¥ god uF ufdfea ufedn 50 Ybs H 3500 rpm @ AU HAFHAH T
Y drsdt g1 vl ufgw & Yot & TS ogYl &1 WG HH (B 82

A reaction wheel of output torque 0.3 Nm runs up to its maximum speed of 3500 rpm in 50
seconds. What is the approximate value of the moment of inertia of the fly wheel of the
reaction wheel?

(a) 4100kg cm? (b) 257kg cm?
(c) 2570kg cm? (d) 409kg cm?
Options:

1.a

2.b

3.c

4.d

Question Number : 28 Question Id : 7715134083 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

for AW W ... & gld W o & &

Ring laser gyro works on the principle of
(2) B10 741/ Hall effect (b) &7 WuTE/Field effect

(c) TP yva/ Sagnac effect (d) Eﬂﬁﬂﬂ T ¥ ®5 Tol/None of the above
Options :

1.a

2.b

3.c

4.d

Question Number : 28 Question Id : 7715134083 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Ring laser gyro works on the principle of
(2) BIq 741/ Hall effect (b) &7 TMId/Field effect
(c) &% UMM/ Sagnac effect (d) STad § ¥ I3 72T/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134084 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ud dH fde ADC @1 0 § 10V & did & 3FFY ddbdl & D0 o fow siffiafctd foar

T 6V & FAN dicedl & deIey fgenu Fm fhd g

A three-bit ADC is designed to digitize analog signals ranging from 0 to 10V. What will be
the binary output corresponding to an input voltage of 6V?

(a) 110 (b) 101 (c) 100 (d) 0L1

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134084 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

& dH fde ADC ®1 0 ¥ 10V & did & FEY Ubdl & B0 & fow fpfeua foman

T 1 6V & MY dicedl & deIRy fgenu Fm fha g

A three-bit ADC is designed to digitize analog signals ranging from 0 to 10V. What will be
the binary output corresponding to an input voltage of 6V?

(a) 110 (b) 101 (c) 100 (d) 011

Options:
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 30 Question Id : 7715134085 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
Fofafed & ¥ 9 wade o ofd By faw vloawn w@ of g i ofoann 3

Which of the following amplifier has very low input impedance and very low output
impedance?

(a) dicedl WG4/ Voltage amplifier

(b) YRT Ta%®/ Current amplifier

(c) IR di@@ Wa4d/ Trans-conductance amplifier
(d) TR WieR1Y WaHd/ Trans-resistance amplifier
Options :

1.a

2.b

3.c

4.d

Question Number : 30 Question Id : 7715134085 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
Fofafed & ¥ 59 wade d ofd Fg faw vloamen w@ of fm e ofvam 3

Which of the following amplifier has very low input impedance and very low output
impedance?

(a) dicedl WaHd/ Voltage amplifier

(b) YRT Ta%®/ Current amplifier

(c) IR d@@ Wa4d/ Trans-conductance amplifier
(d) TR WieR1Y WaHd/ Trans-resistance amplifier
Options :

1.a

2.b

3.c

4.d

Question Number : 31 Question Id : 7715134086 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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100Q o R fagpli UiRlY U4 2.5 & T @ & U fopld Al @ e g AR@r @R
R) ¥ Sl U1 S 81 S00N/mm? & Hide # HIRG U o W YA & HioRle e
& iowd o Pl e Yaeh e (@ aR) werd @1 9 Aue 200x10°N/m? gl

A strain gauge with an unstrained resistance of 100 Q and gauge factor 2.5 is bonded to a tie
bar. Determine the percentage change in the resistance of the gauge when loaded to a stress
of S00N/mm?. Young’s modulus of the tie bar material is 200x10° N/mZ,

(a) 0.725 % (b) 0.875% (c) 0.750 % (d) 0.625 %

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134086 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

100Q & R fagpli UiRlY U4 2.5 & T E & U fopld A @ e gl Aker (@R

R) ¥ &R bl o1 81 S00N/mm? & Uiew H YR B O W Y & HiRry wRac

& ylowd @l Frefa $4 doh Wer @/ ) v @1 97 A0E 200x109N/m? Bl

A strain gauge with an unstrained resistance of 100 Q and gauge factor 2.5 is bonded to a tie

bar. Determine the percentage change in the resistance of the gauge when loaded to a stress
of S00N/mm?. Young’s modulus of the tie bar material is 200x10° N/mZ,

(a) 0.725 % (b) 0.875 % (c) 0.750 % (d) 0.625%

Options :
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134087 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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28pC/N @ QIR ¥ Jad U ¢4 YA 90 TSR @l GIWRU 04 H 10nF 9uiRA &
HaY Yadd Y GIST Ol B We TRSER W SKN & GOHl HaW S o g dl oew
madd & denfin i died &1 uRead &

A piezoelectric force transducer with sensitivity of 28pC/N is connected to a charge amplifier
with 10nF capacitor in the feedback path. Calculate the output voltage of the charge amplifier
at the instant when a step input of 5kN is applied to the transducer

(a) 7V (b) 3.5V (c) 14V (d) 0V

Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134087 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

28pC/N @ Qe ¥ Jod UF SN I 90 RS & QIR0 0y | 10nF 9uiRA &
A Yae A Wiel o 8l 9 CRSIR W SKN &1 GUHl FOw SIS § ol e
YA B T i diceal @1 GRaed B

A piezoelectric force transducer with sensitivity of 28pC/N is connected to a charge amplifier
with 10nF capacitor in the feedback path. Calculate the output voltage of the charge amplifier
at the instant when a step input of 5kN is applied to the transducer

(@) 7V (b) 3.5V (c) 14V (d) 0V

Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134088 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Fofefea smma wiewm &4 9% + 14x = > @ T B (CF) @ fofy sw@a (PI)
T E, W6l ¢, W ¢, @B W T

What 1s the complementary function (CF) and particular integral (PT) of the following
differential equation ¥ + 9% + 14x = ¢°', where ¢, and c, are arbitrary constants,

st st
(a) CF=c e + cze'”,PI=% (b) CF=c,e® + cze”,PI=e?

5 =6l 5t
() CF=cre™ +ce™, p1=*;_4 (d) CF=ce™ + e, PI=Z—4
Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134088 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofifed s@a wieww £ 4 9% + 14x = > & [ Bad (CF) @ Oy su@a (PI)

T3, T, o, @D IR

What 1s the complementary function (CF) and particular integral (PI) of the following

differential equation ¥ + 9% + 14x = €**, where ¢; and ¢, are arbifrary constants.

5t 5t
(a) CF=c e cze'”,PI=% (b) CF=c,e% + cze”,PI=e?
R -7t :59_-6{ _ . =2t -7t :E’_St
(c) CF=ce™ +c,e”"", Pl (d) CF=c,e™ +c,e”"", Pl
74 84
Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134089 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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k@1 5 Roa 2, R R I ————— & wife ®U 3 s fw T E

s242ks+k+1

What is the value of k for which the system ey is critically damped?

@ 1 O ”T‘@

(c) 3+T£ (d) 3747 | ¥ Big T21/None of the above
Options :

1.a

2.b

3.c

4.d

Question Number : 34 Question Id : 7715134089 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

k BT A Foa 2, R R T - @) @ie ®U @ s U T g

§242ks+k+1

What is the value of k for which the system Trdi is critically damped?

(@) 1 |(b) ”7‘@

(c) 3+Tﬁ (d) W& ¥ ¥ @3 7al/None of the above
Options :

1.a

2.b

3.c

4.d

Question Number : 35 Question Id : 7715134090 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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¢ 4+ Y2 e @ AR x+y=5F ¥ THpd B I 3 IRy ¥ 6l T
T B A (o g2

The function 2x* + y? is to be minimized subject to the constraint x +y = 5. What is the
value of the Lagrange multiplier associated with the constraint.

20 5 10 £

@ -7 ®) -3 © -7 @ -3

Options:
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134090 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

22 4y O B AR x+y =53 ¥ THed w9 2 aRy ¥ 6l @i
UG & 09 G g2

The function 2x® + y? is to be minimized subject to the constraint x +y = 5. What is the
value of the Lagrange multiplier associated with the constraint.

@ -2 ) - ©-7 0 -

Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134091 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UG &l & AU R gt ud 30y ok g #ERE 12000 .7, wd 8000 fo.d. g

Y-S Td T4 B Iehgdl & UGS b 32

The apogee radial distance and perigee radial distance of an orbit are 12000km and 8000km

respectively. What is the product of semi-latus rectum and eccentricity of the orbit?

(a) 960 (b) 1920
(c) 2086 (d) Sudad § ¥ BI5 781/ None of the above


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134091 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T e F1 A0y Y gff T Iuy 3w gl HAw: 12000 &AL w so00 AL B
HAY-clg T4 Pe P gl BT UAGA b g2

The apogee radial distance and perigee radial distance of an orbit are 12000km and 8000km
respectively. What is the product of semi-latus rectum and eccentricity of the orbit?

() 960 (b) 1920
(c) 2086 (d) GTFJEH T 9§ @3 Tel/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134092 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFafefed 5 ¥ oy ug FgAU @l & U Tgdd Ugel fdu oH-4 g2

Which of the following is the prime approach used for back-stepping control design?

(a) ol 3fdbad/Lie derivative

(b) o dde/Lie bracket

(c) IYHId RTA@ Y84/ Lyapunov stability theorem
(d) feprefdn (@) ®eH/Describing function

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134092 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fFafefed 5 ¥ oy ug FgA @ & U Wged Ugal fdu oH-d g2

Which of the following is the prime approach used for back-stepping control design?

(a) ol 3fdbad/Lie derivative

(b) o dde/Lie bracket

(c) IYHId RTA@ Y84/ Lyapunov stability theorem
(d) feprefdn (@) ®eH/Describing function

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134093 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
U6 dqd o ot ® 0 @ G(s)H(s) B G(s)H(s) B q B8 U@ dH I s-YHqd &

aﬁaﬁz%aﬁﬂvﬂaﬁﬁwﬁuﬁﬁr&ﬁﬁewmﬁmaaﬂm 1,j0) T &, a s-
THd & o) SR fad dg mof B9

A closed loop system has loop gain G(s)H(s). Two poles and three zeros of G(s)H(s) are
in the right half of the s-plane. If the Nyquist plot encircles (—1,j0) point twice in counter-
clockwise direction] how many closed loop poles are there in the right half of the s-plane.

(2) 0 (b) 1 (c) 2 (d) 3

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134093 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 dqa o ol § U A G(s)H(s) B G(s)H(s) ¥ al F¢ U dH I s-YHad &

o 3R &1 cRuad fomn ¥ 1t TEpE e N o IR 9 (-1, j0) TG 8, @ s-

THda B o 3R fad 98 U 98§

A closed loop system has loop gain G(s)H(s). Two poles and three zeros of G(s)H(s) are

in the right half of the s-plane. If the Nyquist plot encircles (—1,j0) point twice in counter-
clockwise direction| how many closed loop poles are there in the right half of the s-plane.

(a) 0 (b) 1 (c) 2 (d) 3
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Options:

1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 39 Question Id : 7715134094 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tfcae SiRId T ¥ ad Uiie 31 WOmelt H, Gy(s) W Gy(s) Y Hife 4RW T4 7o dife
YRV & dRd e gl FEffEd § ¥ eH-9 W g2

In a sampled data system with sampling interval T, G,(s) and G4(s) are the transfer functions
of the zero-order hold and first order hold. Which of the following is true?

Gy(s) = [Go(s)]?
b) Gy(s) = s[Gy(s)]?
G (
1

5) == [Go(s)]”
(d) Gy(s) = ﬂ[Ge(S)]z
Options:
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134094 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tfcae SiRId T ¥ ad Uiie 31 WOmelt H, Gy(s) W Gy(s) Y Hife 4RW T4 7o dife
YRV & dRd e gl FEffEd § ¥ eH-9 W g2

In a sampled data system with sampling interval T, G,(s) and G4(s) are the transfer functions
of the zero-order hold and first order hold. Which of the following is true?

Gy(s) = [Go(s)]?
b) Gy(s) = S[Go( )I?
G (
1

lTs

(d) Gy(s) = _[G{}(S)]z

Options :
1.a
2.b
3.C
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4.d

GET IT ON
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Question Number : 40 Question Id : 7715134095 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP YUK I Sfae THd & = x> +u B, Wl u MW e T b R ey §1 Fumed
@I [, (2 +u?) de D TN TF A R, dee wiew @ i

The state equation of a system is ¥ = x2 + u where u is the control and a and b are constant
scalars. To extremize a performance index | 01 (x% +u?) dt, what is the costate equation?

(@) A=x(1-1)

(b)i=-2x(1+1)
©A=Ax-1)
(d

)= ekl
Options:
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134095 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

T YUTRH B Sfae THO & = x> + u B, W8l u MW e T b R ey §1 Fumed
@I [[(1% +u?) de B TN TG AN F Y, D whem @

The state equation of a system is % = x% + u where u is the control and @ and b are constant
scalars. To extremize a performance index | 01 (x% +u?) dt, what is the costate equation?

(a) A=x(1-2)
(b) A= —2x(A+1)
(€ A=A(x—-1)
(d) 4 =-x(1-12)
Options :

1.a

2.b

3.cC
4.d

Question Number : 41 Question Id : 7715134096 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

100
3o A= 1| Fofafed # 9§ oH-8 TieRu &1 IqF & 82 el [, 3 X 3@ 3l
1 2%
1 00
Which of the following equation is satisfied by the matrix A=|0 2 1|? Here/isthe 3 X3
L, 4 8

unit matrix.

(a) —A*+ 842 - 154+ 81 =0
(b) A3+ 742+ 124+1=0
() A*+34+21=0

(d) Gﬂﬁfﬁ § ¥ 35 T81/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134096 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

100
Mg A=[0 2 1‘mﬁ@aﬁ%aﬂq—ﬁmﬂaﬂmaﬁ'@m%ﬂm, 3X 30D Bl
125
1 00
Which of the following equation is satisfied by the matrix A=|0 2 1|? Here [ isthe 3 X3
1 2 6

unit matrix.

(a) —A> + 842 - 154+ 81 =0
(b) A2+ T7A2+124+1=0
() A3+34+21=0

(d) W § U P15 Tel/None of the above

Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

GET IT ON
Google Play

Question Number : 42 Question Id : 7715134097 Question Type : MCQ Option >nurriing : NO

Correct Marks : 1 Wrong Marks : 0.33000001311302185
gd URhdl YR URGdd &1 §Hia- & fau smawge fFrae

The controller required to handle the fast process load change is

(a) gHMUId® + 3fdderd 43 /Proportional + Derivative controller
(b) UGS + TAGS 8% /Proportional + Integral controller

(c) WHAMUIfd® f83®/Proportional controller
(d) 39dad ® ¥ @Is T8/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134097 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
gd URhdl YR URGdd &1 I+ & fau smawge Fae

The controller required to handle the fast process load change is

(a) gHMUId® + 3fddore 03 /Proportional + Derivative controller
(b) UGS + TAGS 8% /Proportional + Integral controller

(c) SHAMUIfd® f83®/Proportional controller
(d) 39dad ® ¥ @Is T8/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134098 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

TRIRY G G(s)H(s) = 11)3$ W FUHS TORU 99 U9 O $1 ole @

Gain margin of the negative feedback closed loop system with loop transfer function

G(s)H(s)

(a) 20log (1)

Options :

~ (s41)?

is

(s+

(b) 20log (4)

(c) 20log(8)

(d) 20log (32)
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1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134098 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR G G()H(s) =——F U6 BUEE IR 999 U9 W @ ae 9

(s+1)3

Gain margin of the negative feedback closed loop system with loop ftransfer function

1,
G(s)H(s) = I is

(a) 20log (1) (b) 20log (4) (c) 20log(8) (d) 20log (32)

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134099 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1
B =)

Find the function f{t) for F(s) =

& U f{t) Bed @1 T @

s(s+1)(s+5)

(a) 0.25e7" 4 0.05¢ (b) 02— 0.25¢7" 4 0.05e >
(c) —0.24+0.25e7" 4 0.05¢ > (d) 0.25e7°t +0.05¢

Options :
1.a
2.b
3.cC
4.d

Question Number : 44 Question Id : 7715134099 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

1
B s

Find the function f{t) for F(s) =

& fow f{t) oo @1 v qml

s(s+1)(s+5)

(a) 0.25e7" +0.05¢ (b) 0.2—0.25¢7F +0.05¢>
(c) —0.240.25¢7% 4 0.05¢ (d) 0.25¢" +0.05¢™

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134100 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

& v # SR Bed @ UgEH Bl

Determine the transfer function of the given system.

1 HZ ]

+
Rls) . ‘

(a) G1G2G3/(1+H2G2G3+G2G1HI) (b) G1G2G3/(1+G1G2G3H2H]1)
(c) G1G2G3/(1+G1G2G3H1+G1G2G3H2) (d) GIG2G3/(1+G1G2G3H])

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134100 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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& v # SR Bed @ UgEH Bl

Determine the transfer function of the given system.

1 H2

G3

oS PI20
R(s) i

(a) G1G2G3/(1+H2G2G3+G2G1HI)
(c) G1G2G3/(1+G1G2G3H1+G1G2G3H2)

Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134101 Question Type
Correct Marks : 1 Wrong Marks : 0.33000001311302185

s?+2{ w5 +wd

> (4 represents
$2+2{, w4 .€+L|L.'J <2 ql P

(a) w; W ﬁ dlel & @id fiee/Noteh filter with gain g—l at w,

(b) w; W gz dfel & d5 TR fiheex/Bandpass filter with gamg— at w;
(c) w, W 3d® & ¥ TS fthee/Low pass filter with cut off at w,

(d) it uR® fOeez/ Al pass filter

Options:
1.a
2.b
3.c
4.d

Cfs)

GET IT ON
Google Play

(b) G1G2G3/(1+G1G2G3H2HI)
(d) GIG2G3/(14G1G2G3H )

: MCQ Option Shuffling : No

Question Number : 46 Question Id : 7715134101 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

2 2
57420 w5t w]
e > (7 represents
$242(, w4 s+c.uJ (2 (1 P

(a) w; M ﬁ di®l & @i flheet/Notch filter with gain E—l at w,

(b) w; W gz dfél & 3 TR fhecy/Bandpass filter with gamg— at w;

(c) w, R & & ¥ IR fhect/Low pass filter with cut off at @,
(d) ot R flee/All pass filter

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134102 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFrafafad & ¥ aH-w fg oy R Yded g

Which of the following is a two axes rate sensor?

(a) Tidpd: ARG WKD}’namicall}f Tuned Gyro

(b) & W GI]S?IHRing Laser Gyro

(c) Mg W Gﬂ%@fﬁ Hemispherical Resonating Gyro|
(d) Gq?iaﬁ 79 ﬁ ol /None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134102 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Adda247 Eovdie Play
fFafefad @ @ aH- fg oy R ¥ded @-
Which of the following is a two axes rate sensor?

(a) Tidhd: ARG GIE@EDynamicall}f Tuned Gyro

(b) T W \_IIEQBURiug Laser Gyro

(c) HeTEg a?ﬂaﬁa W;’ Hemispherical Resonating Gyro|
(d) Gcr!jaﬁ 79 ﬁ_ap Hﬁﬂ\lﬂne of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134103 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gl oo ¥ waifed ofd S gt eRMMd (AddHier) 0.1nA @ @ g OuRT @l
UYd o Gddl gl UG fod & U 4o 7 | kQ &1 W’y & 3R &9 fad @l 20V FHaw
o Wifd b i g ol Wikl # Fean wRadd @1 ikeed Y Adi| & Wy 3
UG HAT W Gl gl

A highly sensitive galvanometer connected to a Wheatstone‘s bridge can detect a current as
low as 0.1nA. If each arm of the bridge has a resistance of 1 kQ, calculate the smallest change
in resistance when the bridge is connected to 20V input? Resistance of the galvanometer can
be considered negligible.

(2) 25 pQ (b) 10 uQ (c) 40 uQ (d) 20 pQ

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134103 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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glee oo ¥ daifsd ofd S @l eREm (Aedddiey) 0.1nA @ @ g OuRT @l
Ud & Iddl gl e fod & Ude Yo 7 | kQ &1 WkiY & 3R &9 fad @l 20V FHaw
¥ Yaifad oo ST @ sy ¥ Fgan Radd @ e B Tl & Wy @l
T AT O Tl ¢

A highly sensitive galvanometer connected to a Wheatstone‘s bridge can detect a current as
low as 0.1nA. If each arm of the bridge has a resistance of 1 kQ, calculate the smallest change
in resistance when the bridge is connected to 20V input? Resistance of the galvanometer can
be considered negligible.

(a) 25 pQ (b) 10 uQ (c) 40 uQ (d) 20 pQ

Options:
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134104 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

2 R smw-wifie (Re-W) W @ FRU Bod &1 e @

What is the transfer function representation of the state-space system given below:

X1 =20 + 5%, +u
Jt2:3xl+X2‘|‘2u
y=2x+x,

T8t u Moy wd y e 3/Here u is the input and y is the output.

s s+2 4s5+11 45+17
52-35-13 §4-35-13 §°-35-13 54-35-13
Options :
1.a
2.b
3.¢C
4.d

Question Number : 49 Question Id : 7715134104 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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2 R smw-wifie (Ro-TE) W @ RO Bod &1 FEq @ g

What is the transfer function representation of the state-space system given below:

X =20 + 5%, +u
22:3xl+x:2+2u
y=2x+x,

g u ffay w y ffe 3/Here u is the input and y is the output.

5 s+2 4s5+11 45+17
(3)52—35—13 ) 52-35-13 > 52-35-13 @ §2-35-13
Options:

1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134105 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fRoffed & @ o yrht @1 v soe-wie (Re-du) Fefig 3, fowar dmu

s243547

m%wﬂwwﬁm (Re-WE) AR ... ¥ w0 d gl
Which of the following is a valid state-space representation of the system whose transfer
. st43s47 L
function is 35+—S+ Here the state space representation is in the form
s34252435+4
x=Ax+Bu
y=Cx+Du

0 1 0 0
@A={0 0 1| B=|0|, cC=[7 3 1], D=0]

-4 -3 -2 1

0 10 0]
®A=fo 0o 1,  B=o|, c=[7 3 1], D=0]

4 3 2 1]

(0 1 0] 0]
©A=[0 0 1| B=|0|, C=[7 3 1] D=[0]

-2 -3 -4 1]

(0 1 0] 0]
(dA=]0 0 1| B=|0f, C=[1 3 7], D=[0]

-4 -3 -2 1]
Options:
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134105 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fRoffed & @ o yrht @1 v soe-wie (Re-du) Fefig 3, fowar dmu

s243547

m%wﬂwwﬁm (Re-WE) AR ... ¥ w0 d gl
Which of the following is a valid state-space representation of the system whose transfer
. st43s47 L
function is 35+—S+ Here the state space representation is in the form
s34252435+4
x=Ax+Bu
y=Cx+Du

0 1 0 0
@A={0 0 1| B=|0|, cC=[7 3 1], D=0]

-4 -3 -2 1

0 10 0]
®A=fo 0o 1,  B=o|, c=[7 3 1], D=0]

4 3 2 1]

(0 1 0] 0]
©A=[0 0 1| B=|0|, C=[7 3 1] D=[0]

-2 -3 -4 1]

(0 1 0] 0]
(dA=]0 0 1| B=|0f, C=[1 3 7], D=[0]

-4 -3 -2 1]
Options:
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715134106 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

_ ez _ 2
frafefed & § PH-91 B x(c), o WOEED | = [ ()2 - 4x(0)?] dt P GiaHigd

o &
Which of the following is the function x(tf) that minimizes the functional

J = [ L@~ 4x(7 o
&8l ¢,Ud ¢, W QRIS §/where c;and c, are arbitrary constants.

(a) cie 2t + cpe?t (b) cie™H + c et
(c) c;cos2t +cysin 2t (d) c; cos4t + ¢ sin4t
Options :

1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 51 Question Id : 7715134106 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

— (reen? — 2
frafefed & ¥ PF-9 B x(1), W WOHE® [ = [ [i(0)? - 4x(0)?] dt P Tiawgd

&l §
Which of the following is the function x(t) that minimizes the functional

J = [~ 4x(0)? e
&8l ¢,Ud ¢, W& RIS §/where c;and c, are arbitrary constants.

(a) cie™ + et (b) cie™¥ + et
(c) c;cos2t +¢ysin2t (d) c; cos4t + ¢, sin4t

Options:
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134107 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 Fedid & B, IgH & ¥ H guft &1 dx €, 298 W 49 3 AR, x4 Heayd
@ TG @ AR U y-308 GEmnadl B @ U okl 8, & ©U § WY g W gl ox,y
Wz g o four & 3oR Ao WU LU k 81 U@ SiiReuH o Rufa wiew @ fom
P19 UReR BHW: i —j+ kUG i+ + kel SdRemH & F&1 @ AR e 82

A coordinate frame is defined with center of the Earth as the origin, z-axis pointing towards
the north pole, x-axis towards the vernal equinox direction and y-axis completes the right-
handed triad. The unit vectors along X, v and z axes are i, j and k respectively. Direction of
position vector and velocity vector of a spacecraft are i —j + k and i + j + k respectively.
What is the inclination of the orbit of the spacecraft?

wor(®)  wen(d) e wen()
Options :

1.a

2.b

3.c

4.d
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Question Number : 52 Question Id : 7715134107 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Us FGWI® o DI, IgH & ®U H T4t &1 dg 6, 298 IW 49 3 AR, x-308 HEAyd

@ o B SR T y- Glvmad] fd B QU ka1 7, & ¥ H W ol ™Rl xy

Wz et o four & 3o Wew wEw LU k 81w SiRemm o Ry wfew @ R

@1 9 W BHN: i —j+ kU i+ + kel SdRemH & Fa1 @ AR fea g2

A coordinate frame is defined with center of the Earth as the origin, z-axis pointing towards

the north pole, x-axis towards the vernal equinox direction and y-axis completes the right-

handed triad. The unit vectors along x, y and z axes are 1, j and k respectively. Direction of

position vector and velocity vector of a spacecraft are i — j + k and i + j + k respectively.
What is the inclination of the orbit of the spacecraft?

(a) cos™! (%) (b) cos™ (i_) (c) sin™! (%) (d) sin™? (_—_1)

v V2 y V3
Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134108 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4= fer M ol & fow fead dqen g @

How many equilibrium points are there for the system

X = sinx — CcosXx

¥ =§INYy— COSX
Wil x Td y @ G0 &1 09 2r 9% HifHd @1 g3 @

With x and y variations limited from 0 to 2.

(a) dIy Hged fdg A81/No equilibrium point

(b) &l Hda fdg/Two equilibrium point

(c) @R ¥dad fdg /Four equilibrium points

(d) 3Fid 9= & Hgad fdg /Infinite number of equilibrium points
Options :

1.a

2.b

3.C

4.d
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Question Number : 53 Question Id : 7715134108 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

4= fer T yoneh & fow fpay dqen g

How many equilibrium points are there for the system
X =SInx — cosx
¥ =§Iny—cosx

Sdfd x Td y @ G0 &1 09 2r 9% HifHd @1 g3 @

With x and y variations limited from 0 to 2.

(a) PIy Hged fdg A81/No equilibrium point

(b) &l Hdad fdg/Two equilibrium point

(c) IR Tdad fdg /Four equilibrium points

(d) 3Fid @@= & Hgad fdg /Infinite number of equilibrium points
Options :

1.a

2.b

3.¢C

4.d

Question Number : 54 Question Id : 7715134109 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Mt oo R W dadey Bad f(t) @ W WA & a0 f(t) @WH Jd &,
Tt Y- 031 75 T 9 /ARG R G 22

If a differentiable function f(t) has a finite limit as t — oo and f(t) is uniformly continuous,

d : ; :
thend—{ — () as t — oo, This statement is based on which theorem/lemma?

BEIGSE TRTER THT/Bolzano Weierstrass theorem
(b) Y WfdfE HHY/Contraction mapping theorem
(c) gafcie WT®1/Barbalat’s lemma

(d) ITEH-Ulaldd T/ Kalman-Yakobovich theorem

Options :
1.a
2.b
3.C
4.d
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Question Number : 54 Question Id : 7715134109 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ut R W ooy Ged f(f) ® @ ORG § aU f(t) WIHH Tad 8,
Tt AL 031 Tg T 9 /ARG R G 22

If a differentiable function f(t) has a finite limit as t — oo and f(t) is uniformly continuous,

d ; . ;
thend—‘: — () as t — oo, This statement is based on which theorem/lemma?

(a) SiaeTHl TRTEN UHT/Bolzano Weierstrass theorem
(b) Y= WfafE HHY/Contraction mapping theorem
(c) Tafcie WHI/Barbalat’s lemma

(d) PITEH-laldd T/ Kalman-Yakobovich theorem

Options:
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715134110 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e fud g, R"W & W &7 €, of §be [f,g] Bl ........... & ®7 ¥ Ruiftg
fooar T B
If f and g are two vector fields on R", Lie bracket [f, g] is defined as

(a) (A g)f (b) (Af)g
(© (Ag)f +(Afg (d) (Ag)f - (Af)g

Options :
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715134110 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I fW g, R"R @ Hlew &F §, & dae [f,g] B
frar a2

If f and g are two vector fields on R", Lie bracket [f, g] is defined as

(a) (A 9)f (b) (Af)g
(€ (Ag)f+(Af)g (d) (Ag)f —(Af)g

Options:
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134111 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Jooqd TR & 1y Ugd U Gumel @1 agh Srfoh & uRwr & M o) fien @ g
M gt @ B L. gl

Let the magnitude of the frequency response of a closed-loop system with unity feedback be
M. Radius of constant M circle of the system is

(¢) M(M?-1) (d) Iwdd # ¥ BI5 Fel/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134111 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

JEHS TR & 91y Ugd ORI GOl 1 g Srfer & uRwIn &l M | Rier @
Mg B B L gl

Let the magnitude of the frequency response of a closed-loop system with unity feedback be
M. Radius of constant M circle of the system is

(8 = (b)

Mé-1 M

() M(M*-1) (d) SWad H ¥ B3 8l/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134112 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ry 2 ffen & R, or@ e oRE A1 Bw T 31 fRem & S @u BR@

............ gl

For a type 2 system, the standard bode plot is given below. Static acceleration error constant
of the system is

) I

o

2

4 rad/fs Log [Frequenc;}

®)2 (b) 4 (c) 8 (d) 16
Options :
1.a
2.b
3.c

4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 57 Question Id : 7715134112 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

2 e & R, Ae d9 oRE AR Rw R RRew ¢ @t @ e
............ gl

For a type 2 system, the standard bode plot is given below. Static acceleration error constant
of the system is

&

-]

5 I

2

2

4 radfs Log [Flequenc'.:}

(a) 2 (b) 4 (c) 8 (d) L6
Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134113 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yfeeet Ser womeht @1 Sfu B F(z) = = 2](22+Mz+015 3l lim £ (kT) @1 3 o
3, 9 k € ¥ T [iw! @1 e w T oo T R

2
The transfer function of a sampled data system is F (z) = - what is the

(z-2)(22+0.82+0.15)
value of gim f(KT), where k € set of positive integers and T 1s the sampling time.
L)

40
(a) 1 b)
(c) % (d) Swia # ¥ @5 /None of the above
Options :
1.a

2.b
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3.C
4.d

Question Number : 58 Question Id : 7715134113 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yfoeat Se1 wuneht &1 w0 Be F(z) = z 2)(22+032+[}15 3l lim £(kT) @1 718 e
3, W k € @ UGl &1 ¢ T T ulodw 9 g

2
The transfer function of a sampled data system is F (z) = - what is the

(z-2)(22+0.82+0.15)
value of gim f(KT), where k € set of positive infegers and T 1s the sampling time.
=0

40
(a) 1 (b) =
20

(c) = (d) IWa ¥ ¥ 3k 71/ None of the above

39
Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134114 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ud HU-U0 o 1V/us &1 YgUH & T4 40dB I dfel §1 0 Y 20kHz @I 90l 7 Faw R

& DA HEW @1 UReeH B, Tl e fod fawun & faaiy g @ waida o o

Tl 3l

An op-amp has a slew rate of 1 V/us and gain of 40dB. Calculate the maximum amplitude of

the input signal in the range 0 to 20kHz which can be faithfully amplified without any
distortion

(a) 200.5 mV (b 20.5 mV
(c) 79.5mV Gﬂ?iﬂﬂ iy Gﬂ'ﬁ Tel/None of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 59 Question Id : 7715134114 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ud AU-U0 H |V/ps &1 TqUH R T 40dB &1 o g1 0 ¥ 20kHz 1 90 & a9 Rrd
a%amgmﬂmmﬁqﬁaﬂqﬁ,mﬁmmmﬁsﬁmmﬁmﬁhﬁmm
Todl Bl

An op-amp has a slew rate of [ V/us and gain of 40dB. Calculate the maximum amplitude of

the input signal in the range 0 to 20kHz which can be faithfully amplified without any
distortion

(a) 200.5 mV (b) 20.5 mV
(c) 79.5mV (d) Gﬂ’iﬂﬂ I ¥ 315 78l/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134115 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fammd Wi UfaRiyel B1 9T Bd 8 bit DACS fiU, R Ha¥ BI¢ AF &I Udl 7L
st sV Py Y weE ¥ 9 1 lomA H i S

For an 8 bit DAC using binary weighted resistors find the smallest value of R which will limit
the current to 10mA from 5V reference input supply?

(a) 1516 Q (b) 996 Q (c) 254Q (d) 510 Q

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134115 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faaner WG UiRiU®] &1 IWN $Xd 8 bit DAC® flt, R& Fa¥ B 99 &I Tal @
w5V Few 9T Uer ¥ 4RT @ lomA H §ifdd dm

For an 8 bit DAC using binary weighted resistors find the smallest value of R which will limit
the current to 10mA from 5V reference input supply?

(a) 1516 Q (b) 996 Q (c) 254 Q (d) 510Q


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Aptitude Test

Partl

Question Number : 61 Question Id : 7715134116 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

31y U fafdeen Yeiel wioge o Rwriae & w0 ¥ &1Rd § 3R 31 @ YedH! gR1, Wil &
PR B Jeea B gY, U TS B 01T T, GRum o e @ food ol S gu g ad 81
T & 0 TS S b ek Tl o faaie @ a1 e X & | e Saa uiafemdn
il

You are working in a medical firm as a receptionist and overhear a co-worker giving
confidential information about a patient over the phone, violating the patient's rights. From
the conversation, you gather that your co-worker is talking fo their spouse. What is the
most appropriate response?

(3) 39 TV Bl TEM o PRI BT Fecia Gl & R 9% L [ MU gl o S
faafgdt @I 318 Hafta i g dl g
Call the patient whose rights were violated and report that your co-worker gave
confidential information to their spouse.

(b) U Tald B oY O O GeBH| DI ardierd 7 G gl

Pretend like you didn't overhear your co-worker's conversation.

(c) 3 Tide Pl 3Tk WedH o aR A Rl Y|

Report your co-worker to your supervisor.

(d) UMW T 30! §1d e 5l O & 16 31U 30 FgdbH| U Afdeid dR IR a1d B 3R 35
AL b S0 370 GRI U& I § et M-y G fordll o1 o U g 2l
Have a private conversation with your co-worker after they end their call,
explaining that you overheard them giving confidential information about a
patient.

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 61 Question Id : 7715134116 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
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Addal2417

31y U fafdeen Yeiel wioge o Rwriae & w0 ¥ &1Rd § 3R 31 @ YedH! gR1, Wil &
PR B Jeea B gY, U TS B 01T T, GRum o e @ food ol S gu g ad 81
T & 0 TS S b ek Tl o faaie @ a1 e X & | e Saa uiafemdn
il

You are working in a medical firm as a receptionist and overhear a co-worker giving
confidential information about a patient over the phone, violating the patient's rights. From
the conversation, you gather that your co-worker is talking fo their spouse. What is the
most appropriate response?

(3) 39 TV Bl TEM o PRI BT Fecia Gl & R 9% L [ MU gl o S
faafgdt @I 318 Hafta i g dl g
Call the patient whose rights were violated and report that your co-worker gave
confidential information to their spouse.

(b) U Tald B oY O O GeBH| DI ardierd 7 G gl

Pretend like you didn't overhear your co-worker's conversation.

(c) 3 Tide Pl 3Tk WedH o aR A Rl Y|

Report your co-worker to your supervisor.

(d) UMW T 30! §1d e 5l O & 16 31U 30 FgdbH| U Afdeid dR IR a1d B 3R 35
AL b S0 370 GRI U& I § et M-y G fordll o1 o U g 2l
Have a private conversation with your co-worker after they end their call,
explaining that you overheard them giving confidential information about a
patient.

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134117 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

Fgfefad # FRAME: PICTURE & §HH ®H-91 8?
Which of the following is equivalent to FRAME: PICTURE

(a) Criminal: Crime
(b) River: Forest
(c) Nail: Hammer
(d) Binding: Book

Options :

1.a

2.b

3.¢C


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 62 Question Id : 7715134117 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fFgfeiad # FRAME: PICTURE & HH ®H-491 87
Which of the following is equivalent to FRAME: PICTURE

(@) Criminal: Crime
(b) River: Forest

(c) Nail: Hammer
(d) Binding: Book
Options:

1.a

2.b

3.C

4.d

Question Number : 63 Question Id : 7715134118 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

o TR R o Wier Y Feifiid den e g o o, 76 i 7 oo $ue-Oy ot gad ded
FI g 4 aftr v e BRI & Wi H 9 53 al al @ SUu.a @ o @1 vgi 96 3|
3ifadh fa-T1 1 Yealiod i, S8fe, 0 oM o foT SUHIT &l ere &t il &t Syl ol
PBH B ¢ | ST T I A &

When limitations were in effect on nucleararms testing, people tended to save more of
their money, but when nuclear-arms testing increased, people tended to spend more of
their money. The perceived threat of nuclear catastrophe, therefore, decreases the
willingness of people to postpone consumption for the sake of saving money. The
argument above assumes that

() fimd oo aul g siftae fomme ot vaefiea smid Tedt o @ 3|

the perceived threat of nuclear catastrophe has increased over the years

(b)  Hf¥ai= qTT 3 TR BRI & fdry &1 o faar 3

most people supported the development of nuclear arms

() i & 3fiaey fa-T1 @1 vl afreiT, Wi wam] gRaRi @ e & W R gl
people's perception of the threat of nuclear catastrophe depends on the amount
of nuclear-arms testing being done

(d) TS Tl = ReY] BT o Wi Wifed BiH W 9eY i 04l 3 5dd @1 5, Il ali A
T i1 el o1 gndE e g
the people who saved the most money when nuclear-arms testing was limited
were the ones who supported such limitations
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Options:
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134118 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T WA BRI o TaT Y Wl Wi FeiRor o # o, 7@ i H oo $uu-O & aad o
g o A o WA RO & e 978 55 o o A ern R e s A R e 2
3Ifadh fa-T 1 Foeliod i, SUfa, 0 oM o foT SUHRT &1 ere &1 il &l Sl &l
HH B ¢ | ST dab Bl A1 & o

When limitations were in effect on nucleararms testing, people tended to save more of
their money, but when nuclear-arms testing increased, people tended to spend more of
their money. The perceived threat of nuclear catastrophe, therefore, decreases the
willingness of people to postpone consumption for the sake of saving money. The
argument above assumes that

(a) TUsd o aul ¥ 3fiaa o= &1 Ueligrd SidT gl off i ¢ |

the perceived threat of nuclear catastrophe has increased over the years

(b)  Hf¥ai=I qTT 3 TR BRI & fdpry &1 9o v 3

most people supported the development of nuclear arms

(c) i & 31faey fa=T1 @1 vl i, Wi wam] gRaRf @ upn & W R El
people's perception of the threat of nuclear catastrophe depends on the amount
of nuclear-arms testing being done

(d) ORI ORIy BT ob Udlarr Wi B W TaY it U 61 §9d 1 5, I allll 4
T Eim1- el &1 gadE e g
the people who saved the most money when nuclear-arms testing was limited
were the ones who supported such limitations

Options:
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134119 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

CMM, EOO, GQQ, , KUU
(a) GRR

(b) GSS

{c) ISS

(d) ITT

Options :

1.a

2.b

3.c

4.d

Question Number : 64 Question Id : 7715134119 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

CMM, EOO, GQQ, , KUU
(a) GRR

(b) GSS

{c) ISS

(d) ITT

Options :

1.a

2.b

3.c

4.d

Question Number : 65 Question Id : 7715134120 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Marathon, race @ féig 4l g &l hibernation ... & faU 8|

Marathon is to race as hibernation is to

(a) Winter
(b) Bear
(c) Dream
(d) Sleep
Options :
1.a

2.b

3.c

4.d


https://applink.adda247.com/d/XhqWf9lSap
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GET IT ON
Google Play

Question Number : 65 Question Id : 7715134120 Question Type : MCQ Option >nurriing : NO

Correct Marks : 1 Wrong Marks : 0
Marathon, race @ féig 4l g &l hibernation ... & faU 8|

Marathon is to race as hibernation is to

(a) Winter
(b) Bear
(c) Dream
(d) Sleep
Options :
1.a

2.b

3.c

4.d

Question Number : 66 Question Id : 7715134121 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
1Y g @1 @[ Wid=1itd &M Which one will replace the question mark?

R 8 0
s@e 1s u):
7 4 2

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134121 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

Y fdg & i ufa=ifdd &EmWhich one will replace the question mark?

4 g 0
@ 1@Ds u():
7 4 2

(@) 0
(b) 2
(c) 11
(d) 12
Options:
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134122 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

@A R @I IoH & g [y ot vt # 9ed &1 O ol 62

Which pulley system needs the least amount of effort to lift the black weight

4
(@ A
(b) B
(c) @Hf AdYB ¥ U® §HH/Equal in both A and B
(d) ATB, &Hf 4 TglNeither A nor B

Options:
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 67 Question Id : 7715134122 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0

@A HR ®I I5H & T [y R vl # Gad &F U ol g2

Which pulley system needs the least amount of effort to lift the black weight

r"l
(@) A
(b) B
(c) @Ml AdY B ¥ TP FHH/Equal in both A and B
(d) A7IB, aHIH FglNeither A nor B

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134123 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

®H-1 dldd A dull Y av/Which pendulum will swing faster?

m T

)
)
) gl Tel o @ddl/Cannot say
) TH/All of them

Options:
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 68 Question Id : 7715134123 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

@1 dldd @ dull U e/Which pendulum will swing faster?

|
A
B =
(@) A
(b) B
(c) gl gl o Ybdl/Cannot say
(d) /Al of them
Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134124 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

HY-/Statements:

()  sqeial @ oHd, TaRal 3 offfid e/Blueberries cost more than strawberries.
(i)  sqefal @ HAd, TIdRAT Y B g/Blueberries cost less than raspberries.
(i) IERE @ i, wiakal au el @ Hfie &

Raspberries cost more than strawberries and blueberries.

e Ugell & U gl 5, dl AT DU B

If the first two statements are true, the third statement is

) TellTrue
( } ﬂﬂHfFalse

{ ) HfFd/Uncertain

(d) Iwja Gul/All of the above

Options:
1.a
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2.b
3.C
4.d

Question Number : 69 Question Id : 7715134124 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

®Y/Statements:

()  wqefal @ omd, RieRkal 3 ofid g/Blueberries cost more than strawberries.
(i)  wqefal @ oHd, TRl T &8 gBlueberries cost less than raspberries.
(i) el ot oiga, Tl qur seia 3 ofie §

Raspberries cost more than strawberries and blueberries.

e, Ugell ¢l BYF Tel g, dl S Y 5

If the first two statements are true, the third statement is

) TWeiTrue
( } ﬂﬂHfFalse

{ ) HFfFd/Uncertain
(d) Iugad G/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134125 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
1, J UG 1 Gad BT SR B 6, d W-OFRE ol SUdI Haae o 10, 9 ..

Leaders who utilize learning agility are self-aware. This means they are able to

3T bl 9 BTl b SR H T &

(a) understand their strengths and weaknesses

310 Tl & TR ¥ W & IR A & aR 7 el

(b) understand their own strengths but not weaknesses

W & 3 g e 3

(c) understand that there are conscious beings

A B & IR T FHd § W didd! & an H gl

(d) understand their weaknesses but not strengths

Options:


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134125 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

a1, S U 31 Gard BT S5 B 6, d W-OFRE 6| SUPI Hdae 6 16, 9 ..

Leaders who utilize learning agility are self-aware. This means they are able to :

3T bl 9 BT b SR H 9 &

(a) understand their strengths and weaknesses

37 Iehdl o SR H ST ¢ R BF o &R H el

(b) understand their own strengths but not weaknesses

W & o 3 g gt 2

(c) understand that there are conscious beings

3T BTl & IR FFd § W dIdd! & an | ol

(d) understand their weaknesses but not strengths

Options :
1.a
2.b
3.c
4.d

Part 11


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 71 Question Id : 7715134126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

21, 36 44166, U & Y fauTed gaq qui a7f . B
The least perfect square, which is divisible by each of 21, 36 and 66 is:

a) 213444
b) 214344
(c) 214434
d) 231444

Question Number : 71 Question Id : 7715134126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

21, 36 QU1 66, Ul & WY [qUT F7ad QUi &7 .. B
The least perfect square, which is divisible by each of 21, 36 and 66 is:

a) 213444
b) 214344
(c) 214434
d) 231444

Question Number : 72 Question Id : 7715134127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal247

HY-/Statements:
$s dad, fbdid g/Some pens are books.
it faererd fobdrd 8/All schools are books.
P Helladiad, fqee™ g/Some colleges are schools.
fspd/Conclusions:
(1) P Helladiad, daH g/Some colleges are pens.
(if) $® dad, [deed g/Some pens are schools.
(i) oo AeIdTey, fbdd §/Some colleges are books

(a) dad (i) T (ii) W&l 8/0nly (i) and (ii) follow
(b) ehddT (ji) YT (iii) el &/Only (i) and (iii) follow
(c) Thad (i) T (iii) "8l &/ Only (i) and (iii) follow
(d) Tt 71erd §/None follow

Options:

1.a

2.b

3.C

4.d

Question Number : 72 Question Id : 7715134127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®Y-/Statements:
$s dad, fbarid a/Some pens are books.
i faerer faodrd 8/All schools are books.
P Helladiad, fdemed g/Some colleges are schools.
fspt/Conclusions:
(1) $ Helladad, daH t/Some colleges are pens.
(ii) ©® daH, [de1ed 8/Some pens are schools.
(i) Do HeId=ey, fbdid §/Some colleges are books

(a) dvad (i) T (ii) Tel &/Only (i) and (ii) follow
(b) dad (ii) T (iii) W8T 8/Only (ii) and (jii) follow
(c) Thad (i) @ (iii) "&l g/ Only (i) and (iii) follow
(d) T+t 7TeTd 8/None follow

Options :

1.a

2.b

3.c

4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 73 Question Id : 7715134128 Question Type : MCQ Option >nurriing : NO
Correct Marks : 2 Wrong Marks : 0

e 1 TdY a0 70 9 B/To which group does the figure belong?
0 .. A

\
[ W
‘ﬂx),
%

P
1y

SOl |9 ‘

(a) ®IA
(b) @B
(c) @ ar@aH Tei/Neither A nor B
(d) Iuad A of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e 1 TdY a0 70 9 B/To which group does the figure belong?

0..A
i ‘E:i'\‘
\A0 )
e gy
Group A
GroupB | Mo ‘ ‘
(a) IA
(b) @B
(c) @ ar@aH Tei/Neither A nor B
(d) Iuad A of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o Afcas &1 QR HHa1e SUd fadd &1 999 B

Select a suitable option that will complete the figure matrix

™
Hr

y 4| SHLAREIS 77N

(d)

Options:
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o Afcas &1 QR HHa1e SUd fadd &1 999 B

Select a suitable option that will complete the figure matrix

™
Hr

r o RRARES

(d)

Options:
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CANNY Yot @] Jad 37wd aiid 3 odd HR-iardl ¥sg gHU:

Choose the word which best expresses the meaning of the word CANNY
Obstinate

(a)

(b) Handsome
(c) Clever
(d) Stout
Options :

1.a

2.b

3.C

4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 75 Question Id : 7715134130 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

CANNY ¥Tsg @] UaY 37w aiid 3 oad pR-aral 9sg U

Choose the word which best expresses the meaning of the word CANNY

a) Obstinate
b) Handsome
c) Clever
d) Stout
Options :

1.a

2.b

3.c

4.d

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration:

Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

SectionId:

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Descriptive

3
771513141
30

30

No

No

0

20

Descriptive

771513191
1

Offline
Mandatory
5

4

20

0

1
771513191
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Question Number : 76 Question Id : 7715134131 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

g e R 7R 8 fier p @ guikar Rl 22

What is the sensitivity of steady state position error to parameter P?

No

[5 3i®/Marks]

k
(s+p)s+q)s+r)

w

Question Number : 76 Question Id : 7715134131 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

g e R 7R § Rwfer p @ guifar foad 22

What is the sensitivity of steady state position error to parameter P? [5 3@ /Marks]

k
S+p)s+a)s+7)

v

Question Number : 77 Question Id : 7715134132 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
Fofafed o @ d@dfia w9 &1 9 a ge
What is the amplitude of the limit cycle associated with the following system.
i =5 -xf+xi-1)
iy = —x — X (] +x; — 1)

U 9% & Wild @1 YPld & J0 & & o e d e )

Derive equations to determine the nature of stability of the limit cycle. [5 3i®/Marks]
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Question Number : 77 Question Id : 7715134132 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Fofifed yordt ¥ 9efdd 9 9% @ MW [Ga g

What is the amplitude of the limit cycle associated with the following system.
i = x—x,(+x3-1)

tp = X = X (af + x5 — 1)

9 9% & Wild @1 1Pl @ 710 & & fau Ffieu &1 WHE B
Derive equations to determine the nature of stability of the limit cycle. [5 3id/Marks]

Question Number : 78 Question Id : 7715134133 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

(a) 0¥ UG AU e & gHE
Explain back stepping control design. [2 3@/ Marks]

(b) i % RFGH WUTEh HI Terdl ¥ Uy UG A S B HEEH B
Demonstrate the back-stepping control design with the help of a third order nonlinear

system. [3 3@ /Marks]

Question Number : 78 Question Id : 7715134133 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

(a) U4 Ug M0 SifHeed &1 THE
Explain back stepping control design. [2 3i®/Marks]

(b) G o SRFGD WUTC &l Tl ¥ Uy UG FEA NG @1 WeEH B

Demonstrate the back-stepping control design with the help of a third order nonlinear
system. [3 3fd/Marks]

Question Number : 79 Question Id : 7715134134 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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Addal2417

() aF o R Tonet ot Rrar & fou 7 @1 vl &

Explain the conditions for stability of a linear time invariant system.  [2 3@ /Marks]

(b) 3 Ty AR T : T4 qoma dfel TRU & T HURES TR

5(25*+353+252435+2)

T & fou, wy-glidcd AMGS @1 SWM W) S99 U R 9 Ul @ am

For a negative feedback system with forward path transfer function
s(2544353+252+35+2)

and unity gain feedback, find nature of closed loop stability using Routh-Hurwitz criteria.

[3 3 /Marks]
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Question Number : 79 Question Id : 7715134134 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

() Yaw o1a R woreht ot Rra & fow @l @1 ool &

Explain the conditions for stability of a linear time invariant system. [ 3@ /Marks]

. 1 .
(0) 31 B R B o) © (0 el TR & WY BUTED FHH

et o fo, Ey-gidew AMCS &1 9T @R G99 ORI R @ ek & @ am

1
s(2544353+252+35+2)

For a negative feedback system with forward path transfer function

and unity gain feedback, find nature of closed loop stability using Routh-Hurwitz criteria.

[3 3 /Marks]

Question Number : 80 Question Id : 7715134135 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5
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: _ K (st4)
(a) 3 IR B GCS—S[SH] TS ¥ I TG TR (IS TR &

fo w¢ dow W@ 90 ool @1 W B K womh @t af g
Sketch the root locus and its asymptotes for a unity feedback (negative feedback) that has the

K (s+4)
s(st+1) (s+2)(s+6))

forward transfer function GCS = . Kiis the gain of the system.

[2 3@ /Marks]

K (s-3)
(s+2)(s43)

(b) 3 WU B ¥ fu e TR ¥ 9w dEme TR ool @

$od U4 59 31 fig, ot of A @, @1 v emdiK yoneht @t afd gl

For the unity feedback system with negative feedback having a forward transfer function
K (5-3)
(s+2)(s+3)

, Find out the breakaway points and break in points whichever is applicable.

K 1s the gain of the system.
[3 31/ Marks]

Question Number : 80 Question Id : 7715134135 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

K (st4)
s(s+1) (s+2)(s+6)) T IR T N (BT )

fo w¢ dow W@ 90 ool @1 W B K womh @t af g
Sketch the root locus and its asymptotes for a unity feedback (negative feedback) that has the

(a) 3 IR Bed GCS=

K (s+4)

forward transfer function GCS = R AT

. Kis the gain of the system.

[2 3@ /Marks]

K (s-3)
(s+2)(s43)

(b) 3 WU B ¥ fu e TR ¥ 9w dEme TR ool @

$od U4 59 31 fig, ot of A @, @1 v emdiK yoneht @t afd gl

For the unity feedback system with negative feedback having a forward transfer function

K (5-3)
(s+2)(s+3)

, Find out the breakaway points and break in points whichever is applicable.

K 1s the gain of the system.
[3 31/ Marks]
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